
 

 

Hoja 3.2                                    Matemáticas 3º ESO                                      © FerMates 
Soluciones (Versión β, puede contener errores) 
  
1.- Soluciones: 
 
a)  3;2 21 −== xx   b)  No tiene solución   
 

c)  
4
5

;
3
1

21 −== xx   d)  x = 6 (doble)   

 

e)   
2
3

;5 21 −== xx   f)  
2
1

;
4
3

21 == xx  

 

g)   5;2 21 −== xx    h)   
5
1

;1 21 == xx    

 

i)   31;31 21 −=+= xx    
 
 
2.- Soluciones: 
 

a)  
4
1

;2 21 == xx     b)   
5
6

;4 21 −== xx  

 

c)  
5
5±=x      d)   x1 = 3;   x2 =  – 3  

 

e)   
3
1

;2 21 −== xx     f)   1;
3
8

21 −== xx  

 

g)  2;
5
1

21 −=−= xx    h)  1;
3
5

21 −== xx  

 

i)   
2
1

;2 21 == xx     j)   No tiene solución 

 
k)   5;19 21 == xx  
 
 


